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Question Number : 1 Question Id : 7715133881 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

a. Hﬂf{%ﬂﬂﬁﬁlﬂﬂﬁm

Removal of water from crude oil

b. URSHd dd B 9d & Y IFER

Treatment of crude oil with water
c. USld @ Hidd §= H GUR oA
Improving octane number of gasoline

d.  Uelfcram gyl ¥ TeR qYl sl @ geH

Removal of Sulphur and nitrogen from petroleum fractions.

Options :
1.a
2.b
3.C
4.d

Question Number : 1 Question Id : 7715133881 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

a. Hﬂf{%ﬂﬂﬁﬁlﬂﬂﬁﬁaﬁ

Removal of water from crude oil

b. HUNEpd dd & Td b WY IUER

Treatment of crude oil with water
c. Ueld @ g Y= ¥ R aH
Improving octane number of gasoline

d.  Ugicrd WA ¥ Teh YT RS @l geH

Removal of Sulphur and nitrogen from petroleum fractions.

Options:
1.a
2.b
3.c
4.d



Question Number : 2 Question Id : 7715133882 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W fdeiifed <ol RUzeR o 9 oIt 59-Tae HfifHal & U SR Xy U e 999
‘v U Gafid BOET T B T B

Select the straight line curve relating the conversion X4 and the residence time ‘t” for a zero
order liquid phase reaction in a stirred tank reactor.

a. Xa Vst

b. Xa/(l-Xa)Vst
c. Xa(l-Xa)Vst
d XaVst

Options :
1.a
2.b
3.c
4.d

Question Number : 2 Question Id : 7715133882 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W fdeifed <ot RUeeR & 0 ol sa-wiaw fifhal & fou R Xy 7u1 el 999
‘v ¥ Ul B 9 &1 9 B

Select the straight line curve relating the conversion X, and the residence time ‘v’ for a zero
order liquid phase reaction in a stirred tank reactor.

a. Xa Vslnt

b. Xa/(l-Xa)Vst
c. Xa(l-Xa)Vst
d XaVst

Options :
1.a
2.b
3.C
4.d

Question Number : 3 Question Id : 7715133883 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



3R e 9 1 2 mol, THA! T IHAUIY faRIR & §T 300K W 25L ¥ S0L @l
fafa # ufkafdd gl &1, @ soeled qad ol A T URadd g g2

What will be the change in Helmholtz free energy, if 2 mol of an ideal gas expands isothermally
and reversibly from 25 L to 50 L into a vacuum at 300 K?

a. 3458 Jmol!
b. 0 Jmol!

c. 864.5 Jmol!
d. 1729 Jmol!

Options :
1.a
2.b
3.c
4.d

Question Number : 3 Question Id : 7715133883 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

R G N BT 2 mol, THAM TU1 JehAUIY faRIR @=d gL 300K W 25L ¥ 50L @l
frafd # ufkafdd gl &1, @ seeled qad ol H T URadd g g2

What will be the change in Helmholtz free energy, if 2 mol of an ideal gas expands isothermally
and reversibly from 25 L to 50 L into a vacuum at 300 K?

a. 3458 Jmol!
b. 0 Jmol!

¢. 864.5 Jmol!
d. 1729 Jmol!

Options :
1.a
2.b
3.c
4.d

Question Number : 4 Question Id : 7715133884 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



U QA 39 WU i, 2A== 3B, WOICH & foU & fou for oRads qur quf oftada
& 9 YUl e URadH ... il

The fractional volume change for the system for an isothermal gas phase reaction, 2A===3B,
between no conversion and complete conversion is

a. 05
b. L0
¢. LS
d.  0.66
Options:
1.a
2.b
3.C
4.d

Question Number : 4 Question Id : 7715133884 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U QA 39 U i, 2A== 3B, WOICH & foU & fou for oRada qur quf oftad
& 9 YUl e URadH ... il

The fractional volume change for the system for an isothermal gas phase reaction, 2A===3B,
between no conversion and complete conversion is

a. 05
b. L0
¢. LS
d.  0.66
Options:
1.a
2.b
3.C
4.d

Question Number : 5 Question Id : 7715133885 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



fiied qad FHal (dG) & U Sfadd oo § oUd Aedd Gay . ... gl

Maxwell relation derived from the differential expression for the Gibbs free energy (dG) is

(-G,

b (ar) _ (ap)
av/s \as/y
G (&P) _(65)
arl,  \av/,
d. (ar) _(é‘V)
aP/p  \aS/
Options :
1.a
2.b
3.c
4.d

Question Number : 5 Question Id : 7715133885 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

o8 g ol (dG) & U ada e § o0d A9dq dey ... .. gl

Maxwell relation derived from the differential expression for the Gibbs free energy (dG) is

-G,

" G-
av/s  \as/,
&),
aTly  \aV/q
-G
aP/p  \aS/p
Options :
1.a

2.b



3.cC
4.d

Question Number : 6 Question Id : 7715133886 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Howdieom # R yarE & 10 firew/fe qur 0.3 e - afisha Rl & ary aifigea,
ul fb AfERS A H TuH @I @ g, B Wl ¢l VAR s B 10 % Wl 6 Hokdl &
o0 fe o B Sawd 2

The reaction which is first order in reactant A is carried out in CSTR with constant volumetric
flow rate of 10 [/min and reaction constant of 0.3 min -. How much volume is required to reduce
the concentration of A into 10 % of the entering concentration?

a. 391 c¥litee

b. 90 fere¥litre

c. 351 fac¥litee

d. 300 faelitee

Options :
1.a
2.b
3.c
4.d

Question Number : 6 Question Id : 7715133886 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

diowdiar o R s vaE oX 10 forew/ e dur 0.3 e L sfiin e o ay afiipa,
Wl & AfeRS A 7 W BiiC 31§, P W g1 U i @10 % Uigdl 9@ B &
GG R A GG

The reaction which is first order in reactant A is carried out in CSTR with constant volumetric
flow rate of 10 /min and reaction constant of 0.3 min -, How much volume is required to reduce
the concentration of A into 10 % of the entering concentration?

a. 391 faedlitre
b. 90 fe¥litre

¢c. 351 facvlitre
d. 300 ferc¥litre

Options :
1.a
2.b
3.C



4.d

Question Number : 7 Question Id : 7715133887 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Uy Pifc T & U SHPIR T L. ..., & TH B
Damkohler number for a first order reaction is equal to..........
a.  kCaV
b. kV/Cap
.kt
d kv,

Options :

1.a

2.b

3.C

4.d

Question Number : 7 Question Id : 7715133887 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

wuH Bife oy & R SHPIR dEm ... & T B
Damkohler number for a first order reaction is equal to..........
a. kCaV
b. kV/Cxap
c. kt
d. kv,

Options :

1.a

2.b

3.C

4.d

Question Number : 8 Question Id : 7715133888 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



JRMHe TR # ER @1 udl WY R ofifha, 660K W 15 e # #R 330K W 30
e d, o & & (ln(0.5)= -0.7)

Find the E/R in Arrhenius method if the reaction completed in 15 min at 660 K and in 30 min at
330K (In(0.5)= -0.7)

a. 462 J/mol
b. 450 J/mol
¢c. 472 J/mol

d. 470 J/mol

Options :
1.a
2.b
3.C
4.d

Question Number : 8 Question Id : 7715133888 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

HRHe o § ER @1 udl @ R afifha, 660K W 15 e # #R 330K W 30
fie @, of &t 81 (In(0.5)= -0.7)

Find the E/R in Arrhenius method if the reaction completed in 15 min at 660 K and in 30 min at
330 K (In(0.5)= -0.7)

a. 462 J/mol
b. 450 J/mol
¢. 472 J/mol

d. 470 J/mol

Options :
1.a
2.b
3.C
4.d

Question Number : 9 Question Id : 7715133889 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



250 o 2 ciidiex sIare U Ticig Ay did, Fyd g ¥ 984 & 9R-9R SHufia g
%l 3 $UUG & SRF 9a Bt opld § URadd o) SUaT @ O T&dr gl 25°C Warg H
By Sid &I AR, 1.1.x 106 Hicw/AhUS ¢ Go0HM JHRU Uih 1 AF Bx 107
HIUSUE §, el B (TP GUACE ®H T) ........ gl

A spherical naphthalene ball of 2mm diameter is subliming very slowly in stagnant air at 25°C.
The change in the size of the ball during the sublimation can be neglected. The diffusivity of
naphthalene in air at 25°C at 1.1.x 106 m¥/sec. The value of mass transfer co-efficient is B x
102 my/sec, where B (up to one decimal place) is

a. 0.6
B il
c. 18
d 5.6
Options :
1.a
2.b
3.c
4.d

Question Number : 9 Question Id : 7715133889 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

250C ¥ 2 firefiefiex orrarel! ue ey A dld, fyd 9y § dgd @l dR-4R Fdufd &l
T B FUIH & oRA 9d @1 AP § TRacH 31 JUsT B o THar gl 250C R H
THYcl S @1 feRoRied, 1.1.x 106 Hie/Ad08 1 FouH R0 Uid &1 A B x 103
HICYW®Ug 8, Wl B (UP GIad ®F @) ........ gl

A spherical naphthalene ball of 2mm diameter is subliming very slowly in stagnant air at 25°C.
The change in the size of the ball during the sublimation can be neglected. The diffusivity of
naphthalene in air at 25°C at 1.1.x 106 m¥sec. The value of mass transfer co-efficient is B x
10 m/sec, where B (up to one decimal place) is

a. 0.6
b. Ll
c. 18
d 5.6
Options :
1.a
2.b

3.cC



4.d

Question Number : 10 Question Id : 7715133890 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Joule Thomson co-efficient for an ideal gas is .................
a.  BUTHD/Negative

b.  YdlH®/Positive

U/ Zero

L]

d. T R MR g4 GUBIFS U SHIHG/positive or negative depending on the pressure
Options :
1.a
2.b
3.C
4.d

Question Number : 10 Question Id : 7715133890 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Joule Thomson co-efficient for an ideal gas is ................
a.  BUTHD/Negative

b.  ¥IFH®d/Positive

4/ Zero

L]

d. Td R MR g4 GUBIFESD T SHIHG/positive or negative depending on the pressure
Options :
1.a
2.b
3.C
4.d

Question Number : 11 Question Id : 7715133891 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



foffaa fiwer & sfiean i uhads &9 oam

Which of the following reactor will give maximum gas conversion
a. @R d9 RUTe/Fixed bed reactor

b. fadlifd e@t Rudet/Stirred tank reactor

Y- da RUgFet/Semi fluidized bed reactor

T Udlg JARDIY ﬁ’QEEUPlug flow catalytic reactor

e o

Options :
1.a
2.b
3.C
4.d

Question Number : 11 Question Id : 7715133891 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fafafad RUgeR # afidan 19 uRadd & DT

Which of the following reactor will give maximum gas conversion
a. 2R ga fUde/Fixed bed reactor

b. fawifed @l RuTe/Stirred tank reactor

HY-Rd 7 RUGR/Semi fluidized bed reactor

d. @ Y JaR®E RUdeR/Plug flow catalytic reactor

L]

Options :
1.a
2.b
3.c
4.d

Question Number : 12 Question Id : 7715133892 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

g o foed @ ... diel ol gl

Builders are added in Soap fo .............

a. OUAN® BRAs H YYR TH & fU/Improve detergent action

b. &Y AN TR & FY H GH @A b {0/ Act as anti — re-deposition agent
c. UURUfRIvG & TUH GMH & & ftl0/ Act as Corrosion inhibitor

d. % UMRG & ¥U § B & & [oU/Act as fabric brightener

Options :



1.a
2.b
3.c
4.d

Question Number : 12 Question Id : 7715133892 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

g o foed @ ..., diel ol &l
Builders are added in Soap fo .............

a. OUAN® BRAs H YYR TH & fU/Improve detergent action

b. &Y AN TR & FY H GH @A b {0/ Act as anti — re-deposition agent
c. UURUfRIvG & TUH GMH & & ftl0/ Act as Corrosion inhibitor

d. % UMRG & ¥U § B & & [oU/Act as fabric brightener

Options :
1.a
2.b
3.cC
4.d

Question Number : 13 Question Id : 7715133893 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TS ey W o i R TW (Cp) au RR e (Co) H Hiely SR ... ... @l yor gl
For an ideal gas molar heat capacity at constant pressure (C;) and at constant volume (C.) are
function of

$aq €d/Pressure only
da AI9HH/ Temperature only
a ¥R b, GHi/Bothaandb

d. Gﬁﬂjﬂﬂ 7y Eﬁlﬁ 4l 9gT/None of the above

Options :

o o =

1.a
2.b
3.C
4.d



Question Number : 13 Question Id : 7715133893 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W@ ey W o i RR TW (C,) 7U1 R 3 (C,) H Ay Sl ... @1 UeH gl
For an ideal gas molar heat capacity at constant pressure (C,) and at constant volume (C,) are
function of

&aq €ld/Pressure only

$aq AT/ Temperature only

a ¥R b, gHI/Bothaandb

d. SW& # U @15 ¥ TEl/None of the above

o o =

Options :
1.a
2.b
3.C
4.d

Question Number : 14 Question Id : 7715133894 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

d-Hg@u Ui # I U SHar fogldge @f WURUe: . ... Y 4N R
qior fod s &l

Zeolite used in water softening process is usually regenerated by washing with
a.  §lgd/Brine

b.  TiNHH/Chloramines

c. HISTH SR8/ Sodium bisulphate

d. %4 @REH/Liquid chloramines

Options :
1.a
2.b
3.c
4.d

Question Number : 14 Question Id : 7715133894 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



Wd-Te@u Ui ¥ IUaNT U SHar fgldge Sf WURue: . ... & I 44 W
Qo fod STgsdl &l

Zeolite used in water softening process is usually regenerated by washing with .......
a.  §lg/Brine

b.  TENHH/Chloramines

c. WIETH SEET/Sodium bisulphate

d. %4 FRMH/Liquid chloramines

Options :
1.a
2.b
3.c
4.d

Question Number : 15 Question Id : 7715133895 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Uo foyw | o & Ieie favd el L. & ®U ¥ uRHItd fear o webdr 3l

The chemical potential of species i in a mixture can be defined as

a. (3nG)
Hi =
0/ pp,
(6nU)
M/ pr,
(6nH
g/ prn,
(6nA)
N/ prm,
Options :
1.a
2.b
3.C
4.d

Question Number : 15 Question Id : 7715133895 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



o oy # difd § & IWEES M B & Y 7 URYIMT 67 o 9Hd g

The chemical potential of species { in a mixture can be defined as

a. anG
Hi = ( )

on; PT;
(6nU)
M/ prn,
= ()
mi/pr,
(&nA)
N/ prm
Options :
1.a
2.b
3.¢C
4.d

Question Number : 16 Question Id : 7715133896 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

3R ¢ AR b I UGl 99 R Tldd T RR® & WoHtd &d §, @ 9ed
..... gl

If a and b represent Vander Waals coefficients and R represents universal gas constant, then
inversion temperature (T;) is
a. aRb
b. 2aRb
. Rb2a
d. 2R/ab

Options :
1.a
2.b
3.C
4.d

Question Number : 16 Question Id : 7715133896 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



R g YR b e UGl qul R Wfde 19 RRie &1 uleRfd avd §, df ofehd du
..... gl

If @ and b represent Vander Waals coefficients and R represents universal gas constant, then
inversion temperature (T;) is
a. aRb
b. 2a/Rb
. Rb/2a
d. 2R/ab

Options :
1.a
2.b
3.c
4.d

Question Number : 17 Question Id : 7715133897 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Wd U4 9% ® GG § 99 &1 A SEYRA (Crp) T 82T 96 o @ o6, R
What is the molar heat capacity (Cp») of water in equilibrium with ice? Assume the pressure is
constant.

a.  50.21 kIK-lmol-

b.  3fIcfdll/Infinity

4/ Zero
-50.21 kJK-!mol-!

B ©

Options :
1.a
2.b
3.c
4.d

Question Number : 17 Question Id : 7715133897 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



WO U 96 o GrER § o @ A SR (Cpp) T 87 HH o B oW, @R €
What is the molar heat capacity (Cp ) of water in equilibrium with ice? Assume the pressure is
constant.

a.  50.21 kIK-'mol

b.  3Mddl/Infinity

A4/ Zero
-50.21 kJK-!mol-!

B O

Options :
1.a
2.b
3.c
4.d

Question Number : 18 Question Id : 7715133898 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
R Fam ¥ / logk §M 1/T 1 3G, (-ER) S & 9N W@ Ui W1 ol ol
ER® QHE ......... el
From Arrhenius law, a plot of Jog k versus /T gives a straight line with a slope of (-E/R). The
unit of E/R is
Cal.
Cal/ K
K
d CalK

o oo

Options :
1.a
2.b
3.c
4.d

Question Number : 18 Question Id : 7715133898 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



HRFH 1 ¥ / logk M /T &1 310, (-ER)SA & T4 W W W& <l gl
ER® I ......... gl

From Arrhenius law, a plot of Jog k versus 1/T gives a straight line with a slope of (-E/R). The
unit of E/R is

a. Cal

b. Cal/K
c. K

d CalkK
Options :
1.a

2.b

3.c

4.d

Question Number : 19 Question Id : 7715133899 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

arged UM, dINH HWT qU $UH A0 @I SFUK &; 4 9d & U A el ¢ difd 6 ..
Trouton’s rule is the ratio of heat of vaporization and boiling temperature; is not applicable to
water because it is

a. 59 @RI ¥ Gafld §/Associated in liquid state

b. H'T OH Hl ¥ e TR W emMd 8/Partially ionized to H* and OH- ions

c. U ToHIad fadd §/A eutectic solvent

d.  dW 3fq® ¥ Hefid §/Associated in vapour state

Options:
1.a
2.b
3.¢
4.d

Question Number : 19 Question Id : 7715133899 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



erged UM, dINH HWT qU HYH A0 @I SFUA o; 4 9a & U o el 6 e T8 ..
Trouton’s rule is the ratio of heat of vaporization and boiling temperature; is not applicable to
water because if is

a. 54 ¥9®1 Y Tfd 8/Associated in liquid state

b. H*TY OH- oA ¥ 3fiffi® dR W @M 8/Partially ionized to H* and OH- ions

c. U@ Todiad [da0d §/A eutectic solvent

d.  dW 3fqR ¥ efd §/Associated in vapour state

Options :
1.a
2.b
3.c
4.d

Question Number : 20 Question Id : 7715133900 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

frsHl omrga | T fqomas, ......... /In extractive distillation the solvent used shall

......

a. 9d B% RREM 3GF S §/Form high boiling azeotrope
b. 9 By RRREM ITF A 8/Form low boiling azeotrope
c. ®H anugiical i gF 8/be of low volatility

d. GE[?QIHH 73 ﬂﬁ'ﬁc Hl T8l/none of the above

Options :
1.a
2.b
3.C
4.d

Question Number : 20 Question Id : 7715133900 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

freadf amraed Tqdd foomus, ......... /In extractive distillation the solvent used shall

a. Od H% RR®M 3TF S §/Form high boiling azeotrope
b. T8 H¥ RR@wl 3TF &RA §/Form low boiling azeotrope
c. @N ansiiadl @i gl 6/be of low volatility

d. SW& H ¥ o5 W TEi/none of the above

Options :



1.a
2.b
3.c
4.d

Question Number : 21 Question Id : 7715133901 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T € ol & [T (6s/6p) . ... ... .. & THM §/For a pure substance (6s/6p)x is equal to

F XV
Cys XP

-VIT

b.

C.

Options :
1.a
2.b
3.c
4.d

Question Number : 21 Question Id : 7715133901 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U@ g T & o (@s/0p) .. ... . & THM §/For a pure substance (8s/6p)x is equal to

T XV
Cs /P

-VIT

b.

C.

Options:
1.a
2.b
3.c



4.d

Question Number : 22 Question Id : 7715133902 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TP HTd FWET 3 IoRied AfHfpd 7 TR FURW o fay Fefafes 7 oy Rie
&I JWN 6 o 82
For improved conversion in a highly exothermic solid catalyzed reaction, which of the
following reactor is to be used
a. TR dd RuaeY/Fixed bed reactor
b. @4 @ RUge/Fluidized bed reactor
c. MR RUaR & 916 Ra da Riger
Fixed bed reactor followed by a Fluidized bed reactor

d. Ta a0 fieR & 95 @R 70 Rie

Fluidized bed reactor followed by a Fixed bed reactor

Options :
1.a
2.b
3.C
4.d

Question Number : 22 Question Id : 7715133902 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 d FWET 3 IoRied e 7 deR wUww o fiy fefafes 7 by Riee
o1 JUGT U S B

For improved conversion in a highly exothermic solid catalyzed reaction, which of the
following reactor is to be used

a. R 0 RUGR/Fixed bed reactor

b. Rd da RUd/Fluidized bed reactor
c. TR 0 R & 96 T da g
Fixed bed reactor followed by a Fluidized bed reactor

d. W dd e & a5 AR 70 R

Fluidized bed reactor followed by a Fixed bed reactor

Options :
1.a
2.b
3.c
4.d



Question Number : 23 Question Id : 7715133903 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

| AHA o 6 0 T WA ¥ 9 WG g g1 1 &1 0 Ui

Assume a gas expands freely, the Joule-Thomson coefficient of the gas is

Options :
1.a
2.b
3.c
4.d

Question Number : 23 Question Id : 7715133903 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T© A o i U6 9 Wdd ®0 ¥ WRA Bidl g1 9 BT Jo-cme e L. gl

Assume a gas expands freely, the Joule-Thomson coefficient of the gas is

- as
= (57),



Options :
1.a
2.b
3.C
4.d

Question Number : 24 Question Id : 7715133904 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Wd & Hide fdg R Fufafed § aH-1 o I8 82

At the critical point of water, which of the following statement is correct?

a. O @ T HW HUHdH §/Latent heat of vaporization is maximum
b. dWH & @ HW YU 8/Latent heat of vaporization is zero

C. digdq 37415 K %fTemperamre is374.15K

d. d%H $! T FW GAdH §/Latent heat of vaporization is minimum

Options :
1.a
2.b
3.C
4.d

Question Number : 24 Question Id : 7715133904 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Wd & Hide fdg R Fufafed § oH-u1 oA T8 &2

At the critical point of water, which of the following statement is correct?

a. O @ T HW HUHdH §/Latent heat of vaporization is maximum
b. dWH & @ HW YU 8/Latent heat of vaporization is zero

C. digdq 37415 K %fTemperamre is374.15K
d

dH @ T S GAd9 §/Latent heat of vaporization is minimum

Options :
1.a
2.b
3.C
4.d

Question Number : 25 Question Id : 7715133905 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



.......... & T e & U, log (39 Sidd) W log (HERD 1 IR
Tigdl) & NG P! BUED &l oidl ol

The plot of log (half life) Vs log (initial concentration of reactant) is having a negative slope
for reactions with ........

a. ®if¢ =1/0rder=1

b.  ®If¢ >1/0rder>1

¢. ®I¢ <1/Order<l

d T4 ®ife/Zero Order
Options:
1.a
2.b
3.C
4.d

Question Number : 25 Question Id : 7715133905 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

.......... & Y b & U, log (39 Sidd) W log (HER® B IR
Tigdl) & NG P! BUED &l oidl ol

The plot of log (half life) Vs log (initial concentration of reactant) is having a negative slope
for reactions with ........

a. ®if¢ =1/0rder=1

b.  ®If¢ >1/0rder>1

¢. ®I¢ <1/Order<l

d T4 ®ife/Zero Order
Options:
1.a
2.b
3.C
4.d

Question Number : 26 Question Id : 7715133906 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



Hﬁmsoz(g)+§oz(g)#sog$ﬁ1uamﬁq@ ...... I B B

For the reaction of $0,(g) + %Oz (g) = 505 increase in pressure causes
a. Jdd Hqad TUiU/Higher equilibrium conversion

b. ®UWU H @I URTdT Tal/No change in conversion

c. [H@ ¥dad ¥R/ Lower equilibrium conversion

d.  affifiha &1 R H gf&/Increase in rate of reaction

Options :

1.a
2.b
3.c
4.d

Question Number : 26 Question Id : 7715133906 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

aﬁmsoz(g)+§oz(g):503$ﬁumﬁq@ ...... I B B

For the reaction of S0,(g) + %Oz (g) = S0; increase in pressure causes
a. Jdd Ydad EUIqU/Higher equilibrium conversion

b. FW®W H B URdad Ael/No change in conversion

c. [MHR ¥Jad FURU/Lower equilibrium conversion

d.  afiflea @ H gg/Increase in rate of reaction

Options :
1.a
2.b
3.c
4.d

Question Number : 27 Question Id : 7715133907 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



30°CTR 40 TH &0 @1 100°C R WU # d6a & 0 o Fwiial &t sasged 2

([AF T & T TS 540 FWIH/TW )

How many calories are needed to change 40 g of water at 30°C to steam at 100°C? (Assume
heat of vaporization 540 calories/g)

a. 21600 cal

b. 2400 cal

c. 24400 cal

d. 26400 cal

Options :
1.a
2.b
3.c
4.d

Question Number : 27 Question Id : 7715133907 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

30°C R 407 &d @I 100°C R HY § §ead & oY fdad SWId! & Ha<adal 8?2
@ < 5 T S 540 FUH/TH B)

How many calories are needed to change 40 g of water at 30°C to steam at 100°C? (Assume
heat of vaporization 540 calories/g)

a. 21600 cal

b. 2400 cal

c. 24400 cal

d. 26400 cal

Options :
1.a
2.b
3.C
4.d

Question Number : 28 Question Id : 7715133908 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



w0 foaud 4 fagqd-omae & SRM 99 9.65 A @l [dggayRI, 600 ¥HTSI & fov &, f 3
qW Thddled o1 Fafd gl o &1 Sfidd germH fdd 7 (LF = 96500C)
3 g of a monovalent metal was deposited during electrolysis of a solution, when 9.65 A current
passed over 600 seconds. What will be molecular mass of the metal? (1F = 96500C)
a. 30
b. 100
: 29
d 40

Options:
1.a
2.b
3.c
4.d

Question Number : 28 Question Id : 7715133908 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

w0 fouu 4 fagqd-omaed & SRM 99 9.65 A @l [dqgayRI, 600 ¥HTSI & fov &, f 3
qW Thddled o1 Fafd gl o &1 Sfidd germH fdd 7 (LF = 96500C)
3 g of a monovalent metal was deposited during electrolysis of a solution, when 9.65 A current
passed over 600 seconds. What will be molecular mass of the metal? (1F = 96500C)
a. 30
b. 100
: 29
d 40
Options:
1.a
2.b

3.cC
4.d

Question Number : 29 Question Id : 7715133909 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



T WEiiicd, 20007 $W B 0°C R G & 3R 60°C W RASR deal gl Weiiaa i JaH
& fou s an o1 9E @1 tRdad difo|

Consider a refrigerator that removes 2000 J heat at 0°C and rejects at 60°C. Calculate the
minimum amount of work required to operate the refrigerator?

a. 43961]
b. 21987
c. 4423]
d 879.2]
Options :
1.a

2.b

3.c

4.d

Question Number : 29 Question Id : 7715133909 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Td Wi, 20007 S F 0°C R Bl § 4R 60°C R FRASR Xl ¢ Wifaa @l Jar
& U IS TAan M 6 @ URead diol

Consider a refrigerator that removes 2000 J heat at 0°C and rejects at 60°C. Calculate the
minimum amount of work required to operate the refrigerator?

a. 439.6]
b. 219.8]
. 4423]
d 879.2]
Options :
1.a
2.b
3.c
4.d

Question Number : 30 Question Id : 7715133910 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



Froffad & oH, @ SIS 31 Fde &l &1 Uk B 2

Which of the following represents the thermodynamic efficiency of a cell?
a. -nFE

b. AH/AG
c. -nFE/AH
d nFE/AS

Options :
1.a
2.b
3.C
4.d

Question Number : 30 Question Id : 7715133910 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

frofifaa & o1, @ oI o Fwie e o uaRfia o 22

Which of the following represents the thermodynamic efficiency of a cell?
a. -nfFE

b. AH/AG
c. -nFE/AH
d. nFE/AS

Options :
1.a
2.b
3.c
4.d

Question Number : 31 Question Id : 7715133911 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

it ORadT & A H SUHUE & A1 e @l ... ¥ ffiored fopur oIl g

In terms of entropy change, the temperature co-efficient of EMF is expressed as....
a. AS/OF

b. nF/AS
c. -RTInS
d. -AS/nF

Options :



1.a
2.b
3.c
4.d

Question Number : 31 Question Id : 7715133911 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Tl OREd & A H SUHUE & d e @ ... .. U 3fioned o o &l
In terms of entropy change, the temperature co-efficient of EMF is expressed as....
a. AS/nF
b. nF/AS
c. -RTInS
d. -AS/nF

Options :

1.a

2.b

3.¢C

4.d

Question Number : 32 Question Id : 7715133912 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TR & oRA Fuiva fig & aelie ®1 ¥ ToRd ®a U & faguy @1 ... $gl 9 8l
The locus of fluid particles that have passed sequentially through a prescribed point in the flow
are called .......

a.  UY-YGI/Path lines

b.  VAR-@l/Stream lines

qui-@l/ Streak lines

d.  ®IO-¥El/ Time lines

o

Options :
1.a
2.b
3.C
4.d

Question Number : 32 Question Id : 7715133912 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



WaE & oRA Fuivd g § apefie ®U ¥ ToRd ®a a0 & faguy @1 ... Fgl 9 8l
The locus of fluid particles that have passed sequentially through a prescribed point in the flow
are called .......

a.  UY-3@l/Path lines

b.  VATB-¥EI/Stream lines

U341/ Streak lines

d.  @Id-4@l/Time lines

o

Options :
1.a
2.b
3.¢
4.d

Question Number : 33 Question Id : 7715133913 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Ueed el eXal, U@ bR @l ......... ©/Pelton Wheel turbine is a type of .............
a. YIE® (TR e/ Positive displacement turbine
b. M e/ Impulse turbine
c.  Widfbdl 2I9E4/Reaction turbine
d. Gﬂrﬂﬂﬂ T ¥ o5 o 781/None of the above
Options:
1.a
2.b
3.c
4.d

Question Number : 33 Question Id : 7715133913 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Uee el eXal, U UoR @1 ......... ©/Pelton Wheel turbine is a type of .............
a. Y0P TR W5/ Positive displacement turbine

b. 34Tl 2GR/ Impulse turbine

c.  Widfshdl 2aE4/Reaction turbine

d. SW& H ¥ i3 4 781/None of the above

Options :



1.a
2.b
3.c
4.d

Question Number : 34 Question Id : 7715133914 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

M3/ M2 % U Cr, Mn, Fe T Co 4Igefl @1 OHE U9 fa9d, $US: -0.41V, +1.57 V,+0.77
VUl +1.97 VEl SR Seiidd iy o &1 M2 T M3 o o T O SRy gl €2
Standard reduction potential of metals Cr, Mn, Fe and Co for M**/ M is -0.41 V, +1.57V, +0.77
V and +1.97 V respectively. Which of the metal mentioned above easily undergo oxidation from
M2 to M37?
a. Co
b. Mn
S ¥ s

d Fe

Options :

1.a

2.b

3.cC
4.d

Question Number : 34 Question Id : 7715133914 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

M3/ M2 & iU Cr, Mn, Fe T Co 4Iq3l &1 A U9 fd4d, HA: -041V, +1.57V,+0.77
VAUl +1.97 Vel W Ieiied oy o1g &1 MY Mo fou o d sfiafiaRu gid 8
Standard reduction potential of metals Cr, Mn, Fe and Co for M?*/ M#" is -0.41 V, +1.57V, +0.77
Vand +1.97 V respectively. Which of the metal mentioned above easily undergo oxidation from
M2 to M3

a. Co

b. Mn

¢c. Cr

d. Fe

Options:
1.a
2.b
3.c



4.d

Question Number : 35 Question Id : 7715133915 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

f4gd 37 WA & fU gaaifod @ R Iose-Be & o & gy @

For open channel flow, what is the relation between hydraulic diameter and hydraulic radius
.  Dy=PRy

b. Dy=2Ry

¢c. Dy=4Ry

d. W& ¥ ¥ B l TE/None of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 35 Question Id : 7715133915 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

I I A 2 L e s g e O M B s

For open channel flow, what is the relation between hydraulic diameter and hydraulic radius
. Di=Ry

b. Dy=2Rs

c. Dp=4Ry

d. GEPj?H T ¥ @i3 ot 18/None of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 36 Question Id : 7715133916 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



faEun & & 9y S W # gfg g Wl @ L ®el o Bl

Fluids for which the apparent viscosity increases with the rate of deformation are called
a. 99 WIEH, Pseudoplastic

b. s wN&®/ Bringham plastics
c. [dRl/Dilatant
d. JWd ¥ U diy 4 Tel/None of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 36 Question Id : 7715133916 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

faeun & & Wy s e | ofg e &®dl B L. ®el WIdl gl

Fluids for which the apparent viscosity increases with the rate of deformation are called
a. % WIKd/ Pseudoplastic

b. fsT @i/ Bringham plastics

fawpRl/Dilatant

GH?jEH T 3 oI5 o 981/None of the above

Options:

c. 0

1.a
2.b
3.C
4.d

Question Number : 37 Question Id : 7715133917 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



oA A1, 2 T A AEH R Il Sl & e Q9 O aed gl Al
dEE R S 3 TE1, o ¥ 91 UW 9% ¢ R 2 d0H W T $ S
Gl 8, ¥ 39 T2, & AU W SR ¥ 0 S § AR 3 d0HH R S
3 IH T &l AW T 9 399 TE1 W <0 I, S99 T2 @ U@ I & GEF &l A
fr S §oH, Jopauiy IR R T & auf T dUeH dfedd | §1 3R §99 T91 Al
9 T2 9l GOl U §HH §, oAy duEd el .. ¥ iftfoma T S Febdl 3
Two heat engines work between three thermal reservoirs at temperatures T1, T2 and T3,
respectively. Heat engine H1 receives heat from the reservoir at temperature T1 and rejects heat
to the reservoir at temperature T2, heat engine H2 receives heat from the reservoir at temperature
T2 and rejects heat to the reservoir at temperature T3. assume that the heat rejected by engine
HI is equal to heat input to engine H2. Assume heat engines operate under reversible conditions
and all temperatures are in Kelvin. If the efficiencies of engines HI and H2 are same, the
reservoir temperature T2 can be expressed as

d.
T, -T
0D
b. (T
Tzz 2

S

i
Options :
1.a
2.b
3.c
4.d

Question Number : 37 Question Id : 7715133917 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



oA A1, 2 T A AEH R Il Sl & e Q9 O aed gl Al
dEE R S 3 TE1, o ¥ 91 UW 9% ¢ R 2 d0H W T $ S
Gl 8, ¥ 39 T2, & AU W SR ¥ 0 S § AR 3 d0HH R S
3 IH T &l AW T 9 399 TE1 W <0 I, S99 T2 @ U@ I & GEF &l A
fr S §oH, Jopauiy IR R T & auf T dUeH dfedd | §1 3R §99 T91 Al
9 T2 9l GOl U §HH §, oAy duEd el .. ¥ iftfoma T S Febdl 3
Two heat engines work between three thermal reservoirs at temperatures T1, T2 and T3,
respectively. Heat engine H1 receives heat from the reservoir at temperature T1 and rejects heat
to the reservoir at temperature T2, heat engine H2 receives heat from the reservoir at temperature
T2 and rejects heat to the reservoir at temperature T3. assume that the heat rejected by engine
HI is equal to heat input to engine H2. Assume heat engines operate under reversible conditions
and all temperatures are in Kelvin. If the efficiencies of engines HI and H2 are same, the
reservoir temperature T2 can be expressed as

d.
T, -T
0D
b. (T
Tzz 2

S

i
Options :
1.a
2.b
3.c
4.d

Question Number : 38 Question Id : 7715133918 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



U9 ®Rq 31 G T®, k ....... ©/Coefficient of compressibility of a fluid, k is

* o
Vi
c ilg
‘V(W)T
d av
-(7),
Options :
1.a
2.b
3.C
4.d

Question Number : 38 Question Id : 7715133918 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U9 ®d &1 G T, k ....... ©/Coefficient of compressibility of a fluid, k is

©
aV/y
d. av
-(7),
Options :
1.a
2.b
3.c
4.d

Question Number : 39 Question Id : 7715133919 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



1% 31 i &1 gl g St & &1 uReeT @ ... $gl o9 8l
The phenomenon of producing lift by the rotation of a solid body is called
a. YT UHE/ Vortex effect

b.  &{dl WeTd/Benoulli’s effect

c. 3 g% MG/ Up disc effect

d. W YHIE/Magnus effect

Options:
1.a
2.b
3.c
4.d

Question Number : 39 Question Id : 7715133919 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

1% 319 i &I g N St & &1 uReeT @i ... $gl o9

The phenomenon of producing lift by the rotation of a solid body is called
a. YT UHE/ Vortex effect

b.  &{dl WeTd/Benoulli’s effect
. 30 f&% UHE/Up disc effect
d. W YHIE/Magnus effect

Options:
1.a
2.b
3.c
4.d

Question Number : 40 Question Id : 7715133920 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



& JOOR U0 H AR, W9 gl ol R R i SuR WHAd 39 R®d U
WoRfta o T R S 9 & orE €, @ WAk & aR § 3 Bl 91 $odl o7
Flow through a circular pipe is laminar. Now if we replace the fluid with another fluid with
higher viscosity, while maintaining the same velocity, what can we say about the flow?

a. WaE, TRA 8 W/ The flow will remain laminar

b.  WdIg, W &M/ The flow will become turbulent

c. Wi, &fid B/ The flow will become Transient

d.  ©9 3% T Y9q [ 98 U T WG g

We cannot say whether it will be turbulent or laminar

Options :
1.a
2.b
3.c
4.d

Question Number : 40 Question Id : 7715133920 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 JOOR URY H UdlE, W9 ghltl ol 3R Rd & Iwk WHAd 39 ®a ¥
yioRiUd 6 S ok S 37 @ dEw W, O Y6 & 9 H @1 Sl of §6dl o7
Flow through a circular pipe is laminar. Now if we replace the fluid with another fluid with
higher viscosity, while maintaining the same velocity, what can we say about the flow?

a. Vdg, TR & 5/ The flow will remain laminar

b. Tdlg, Wi BW!TIle flow will become turbulent

¢. Wa®E, &MU g/ The flow will become Transient

d. T P50 Whd & 98 Wy T WA g

We cannot say whether it will be turbulent or laminar

Options:
1.a
2.b
3.c
4.d

Question Number : 41 Question Id : 7715133921 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



T $HIeD R TR0, @ & odl 4 10 HiR & $ug W 115 TH/AdHR
TEdE qaud g @i U0 @R W@l gl W UEU &1 AW 10 YoM § 3R M U
o1 o 5 YR § 9 UU S kW Pl IUNM IR W@l ¢l UU Y S & 79 @I FE o e
T A BT FUC H 8

A positive displacement pump is pumping a brine solution having density of 1.15 g/cc from an
open tank to a height of 10 m. Inlet pipe is of 10 cm diameter and outlet pipe is of 5 cm diameter
and the pump consumed 5 kW. What is the ratio of outlet velocity to inlet velocity of the liquid
being pumped?

a. 05

b. L0
c. 2.0
d. 4.0
Options:
1.a

2.b

3.C

4.d

Question Number : 41 Question Id : 7715133921 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U $HIED R URU, U6 §@d o@l 4 10 W) & Jug W 115 TH/4dHR
FEAAIER TS a0 31 U0 S @I gl W USY B U 10 §AHieY § SR fiH gy
o1 g 5 YEWIEX ¢ U UU S kW @ JUHIT &% g1 §1 UT fU o 3¢ 59 @I MW AT R
HFH A BT U H 3

A positive displacement pump is pumping a brine solution having density of 1.15 g/cc from an
open tank to a height of 10 m. Inlet pipe is of 10 cm diameter and outlet pipe is of 5 cm diameter
and the pump consumed 5 kW. What is the ratio of outlet velocity to inlet velocity of the liquid
being pumped?

a. 035

b. 1.0

c. 2.0

d 4.0

Options :
1.a
2.b
3.c
4.d



Question Number : 42 Question Id : 7715133922 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Uq {6y SHa %9 & TePEE B GHE ... ... 0 fa o 9o g

Susceptibility for cavitation of the liquid to be pumped can be reduced by ........

a. d auH H dfg dH Wincreasing fluid temperature
b. 90 @& ¥ gfg TH Yincreasing suction pressure
c. TNV Wa§ @ ¥ dfg @M Wincreasing suction flow rate
d. Wd @4 ¥ Bl a4 YReducing fluid pressure
Options :
1.a
2.b
3.¢C
4.d

Question Number : 42 Question Id : 7715133922 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

40 f6U JRad 59 8 R o guET L. @0 foar o1 g g

Susceptibility for cavitation of the liquid to be pumped can be reduced by ........
a. W dAF H 9§ @9 Yincreasing fluid temperature

b. 90 @& H gfg WM Yincreasing suction pressure

c. 9V Wa§ @ ¥ dig @M Wincreasing suction flow rate

d. ®d @ ¥ dekdl aH YReducing fluid pressure

Options:
1.a
2.b
3.c
4.d

Question Number : 43 Question Id : 7715133923 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



frofefa el & BF-U o @1 aiH avic I & ofUR FHeE fou T |2
Which one of the following sequences is arranged according to increasing colorific value?
a. dU-3R 09, WPldd 19, WU-3TR HG/Producer gas, natural gas, water gas

b. WHldd T, TY-MR A, HIU-3R /Natural gas, producer gas, water gas

c. TY-HR M, WU-FR 79, WHidd M Producer gas, water gas, natural gas

d.  HU-3FR 79, Wolcd T, dY-3R 9/ Water gas, natural gas, producer gas

Options :
1.a
2.b
3.c
4.d

Question Number : 43 Question Id : 7715133923 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

AR R 3 B-3 R @) T8 avic AH b AR PAEE e T 3
Which one of the following sequences is arranged according to increasing colorific value?
a. TY-HR T, WPldd MW, HU-R /Producer gas, natural gas, water gas

b. Wfdd M, TY-MR N, HIU-3MR N/Natural gas, producer gas, water gas
TY-3R 9, HU-3R 9, Wfd T8/Producer gas, water gas, natural gas
WIU-3R 719, Wifcd 19, M-3R 9/ Water gas, natural gas, producer gas

[T o ]

Options :
1.a
2.b
3.c
4.d

Question Number : 44 Question Id : 7715133924 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



W fRd s @ ®E I3 ¥ g4 & o Fefofed ol 3§ o9 9
For a floating body to be in stable equilibrium, which of the following conditions is correct?

a. &Waﬁ,mﬁﬂ?ﬁﬁaﬂﬂﬁ%

The meta center is below the center of gravity of the body

b, &A@ $%, 08 & d &% & IW &

The meta center is above the center of gravity of the body

c. @A &% d¥ od $% UF 8 fdg N gH dIMeY

Meta center and center of gravity should be at the same point

d. 39 ¥ @l ol Wl gl 8/None of these are correct
Options :
1.a
2.b
3.c
4.d

Question Number : 44 Question Id : 7715133924 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

@ fRd s @ ®E I3 # §H @ v Fefofed o 3 o8 9
For a floating body to be in stable equilibrium, which of the following conditions is correct?

a. Hcd dg, i & Tad dg & A 8

The meta center is below the center of gravity of the body

b. wd B%, IS & Tad 35 & IW ¢

The meta center is above the center of gravity of the body

c. HEd &% ol Tod B 0D @l g W gH dlfey

Meta center and center of gravity should be at the same point

d. 3 ¥ o5 o W T&l §/None of these are correct
Options :
1.a
2.b
3.c
4.d

Question Number : 45 Question Id : 7715133925 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



URTHH & YR R -9 Qyad §, QUadRul & & R0 .. .. .. @ IR g

In gas to gas separation based on permeation, the principal reasons for separation is the
difference in,

a. [IURIAIDiffusivity

b.  fdeigdiSolubility

c. I/ Volatility

d. T HMHILatent heat

Options :
1.a
2.b
3.¢
4.d

Question Number : 45 Question Id : 7715133925 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TR & YR W -9 Gydmeu |, Judhul & &8 BRU ... .. P HR Bl

In gas to gas separation based on permeation, the principal reasons for separation is the
difference in,

a. [IURIAIDiffusivity
b.  fdeiudiSolubility

. IgEiTEd Volatility
d. 7 $H™I/Latent heat
Options :
1.a
2.b
3.C
4.d

Question Number : 46 Question Id : 7715133926 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



I (9 1), il ¥ Y R didd § R & 99 (9ed 2) H dffd g 3@ 81 dldd
050 & &R U 900 & SUE I A it & wigu ol fAR @ gl Ni, U6 R §
Fd ®F ¥ & 9 @ TEE § adl N, 19 R0 G9ed 3 AT T AU o 4
&Y M D Mad gl AF o @ ddd & dR & 9, R 31 Fefifed d o1 w9
Ammonia (component 1) is evaporating from a partially filled bottle info surrounding air
(component 2). The liquid level in the bottle and the concentration of ammonia at the top of the
bottle are maintained constant. Ni is the molar flux relative to a fixed location in space and Ji is
the molar flux relative to the average molar velocity of the constituent species in the gas phase.
Assume the air in the bottle is stagnant. Which one of the following is correct?

a. NI ="8R@/constant; N2=0;J1+12=0

b. NI+N2=0:J1+J2=0

¢. NI1+N2=0;]J1="RRi®/constant; 2= 0

d. NI =TR®/constant; N2 = 0;J1 = RRi®/constant; 12 =0

Options :
1.a
2.b
3.C
4.d

Question Number : 46 Question Id : 7715133926 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

AT (Ged 1), iR TU Y R 990 § R & 9 (9ed 2) | qd g W@ gl i
H 50 & &R U 900 & SUH I A it & wigu ol R @ gl Ni, 1P R &
Fd ®F T WE 9W @ TEd o adl T, T R0 U9ed @ Hgd T HUD o 4
&Y TH 0D Mad gl AF o & 90 & dR B 9, R 31 FMefifed d o1 w9
Ammonia (component 1) is evaporating from a partially filled bottle info surrounding air
(component 2). The liquid level in the bottle and the concentration of ammonia at the top of the
bottle are maintained constant. Ni is the molar flux relative to a fixed location in space and Ji is
the molar flux relative to the average molar velocity of the constituent species in the gas phase.
Assume the air in the bottle is stagnant. Which one of the following is correct?
a. NI =@R®/constant; N2=0;J1 +12=0
b. NI+N2=0:J1+]2=0
¢. NIl+N2=0;]1="@Ri®/constant; J2 =0
d. NI =T R®/constant; N2 = 0;J1 = RRi®/constant; 12 =0
Options :
1.a
2.b
3.¢C



4.d

Question Number : 47 Question Id : 7715133927 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e ARG fac & foome g fmmw &t ... ... ... @el Il gl

Desorption of a adsorbed solute by solvent is called

a.  [SPUU/Extraction

b.  faNwul/Desorption

c.  &ICU/Elution

d.  JohHl HEIUUI/Reverse adsorption

Options :
1.a
2.b
3.c
4.d

Question Number : 47 Question Id : 7715133927 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

UE ARG o & foone gr fwmw &t ... ... ... @el ol gl

Desorption of a adsorbed solute by solvent is called

a.  [YUExtraction

b.  fd=I¥U/Desorption

c.  &ICU/Elution

d. IchHl Hf=IEUI/Reverse adsorption

Options :
1.a
2.b
3.c
4.d

Question Number : 48 Question Id : 7715133928 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



od o EI & G B R WRY ... 2l

The main resistance for absorption of ammonia in water is from
a.  %d WULiquid phase

b. @M TWU/Vapor phase

c. adRb, GHIBotha&b

d. a 3R b ¥ o o TE/Neither anor b

Options :
1.a
2.b
3.¢
4.d

Question Number : 48 Question Id : 7715133928 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

oe ¥ M & aeiNy & e Y L. T 2l

The main resistance for absorption of ammonia in water is from
a.  %d WU/Liquid phase
b. @™ TWU/Vapor phase
c. a ¥R b, GH/Botha&b
d

a dR b ¥ o3 Ut TgI/Neither anor b

Options :
1.a
2.b
3.C
4.d

Question Number : 49 Question Id : 7715133929 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fowdu varg & fawww & fou Refifed sfen deme # fouer Suam & o &2

Which of the following dimensionless numbers is used in the analysis of Creeping flow?

a. TE® H¥&/Grashof number
b. ¥icsy GEI/Reynolds number
c. W98 Y&/Froude number

d. Wigd YN/Prandtl number

Options :



1.a
2.b
3.c
4.d

Question Number : 49 Question Id : 7715133929 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fowdur o & favoww & fou Fufafaa sfem demst § fowe Swm v o &7

Which of the following dimensionless numbers is used in the analysis of Creeping flow?
a. TR HBI/Grashof number

gy d@i/Reynolds number

PI3S H&/Froude number

Yigd U@/Prandtl number

B 5o o

Options :
1.a
2.b
3.C
4.d

Question Number : 50 Question Id : 7715133930 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TP T19-59 Y0 ¢ W 7 3R 59 & §gd ®H @l, dl ¢ gR U IW Iodl 14, 54 DI Yo
Todl ¢ W 19 9 %0 & 99 Y06 PHOR §f 9odl oll 39 R @ ... gl Il gl
In a gas-liquid contact tray column, if liquid rate is too low, the gas rising through the tray

opening may push the liquid away leading to poor contact between gas and liquid. This condition
iscalled.

a.  MiGHwH/Priming
b.  W@/Coning

c. [Ed/Weeping

d.  #/Flooding

Options :
1.a
2.b
3.c
4.d



Question Number : 50 Question Id : 7715133930 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

1% 953 GO0 ¢ WY § R 53 W 9gd B9 8, d ¢ GR § SN Iad 19, 5 I 4ok
¥dl ¢ ¥ 19 9 39 & 99 Y05 FHGR & 9Hd g1l 39 R Bl ... .FE S B

In a gas-liquid contact tray column, if liquid rate is too low, the gas rising through the tray
opening may push the liquid away leading to poor contact between gas and liquid. This condition

a.  HMCHwH/Priming
b.  @/Coning

c. REd/Weeping

d.  #/Flooding

Options:
1.a
2.b
3.c
4.d

Question Number : 51 Question Id : 7715133931 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

090 mm Hg & @ @& H aid ag qul AEeion 719 & Y0 H R Sl @ FRUG Sl
0.1 mol =6f/mol eI &, f d=i &I il aW ...... 2|

In a mixture of benzene vapour and nitrogen gas at a total pressure of 990 mm Hg. If the absolute
humidity of benzene is 0.1 mol benzene/mol nitrogen, the partial pressure of Benzene is,

a.  99.0mm Hg
b.  90.0 mm Hg
34.3 mm Hg

d.  39.3mmHg

Options :
1.a
2.b
3.c
4.d

Question Number : 51 Question Id : 7715133931 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



000 mm Hg & $d &W § dwui a gyl 5eioH 19 & By § R S @ FRUg S
0.1 mol =6f/mol eI &, f d=i &I il aW ...... 2|

In a mixture of benzene vapour and nitrogen gas at a total pressure of 990 mm Hg. If the absolute
humidity of benzene is 0.1 mol benzene/mol nitrogen, the partial pressure of Benzene is, ...........

a.  99.0mm Hg
b.  90.0 mm Hg
34.3 mm Hg

d.  39.3mmHg

Options :
1.a
2.b
3.c
4.d

Question Number : 52 Question Id : 7715133932 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TS A B URHIN AT Tl IR B TG P
Choose the correct sentence to define a ‘stationary’ medium.

. fREU Maw, fomueia MaE & 9HE 5

Absolute flux of a species is equal to diffusive flux
b. YU T A@ AT I LI €/Molar average velocity of mixture is zero
¢. a 3R b, cH/Botha&b
d. a Wb, G TeINeither a nor b

Options :
1.a
2.b
3.c
4.d

Question Number : 52 Question Id : 7715133932 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



W HGH B URMIN AT Tl R Bl 9E Hifo
Choose the correct sentence to define a ‘stationary’ medium.

2. ReU Ta®, TRl TAE & 999 &

Absolute flux of a species is equal to diffusive flux
b. YU & UG A 97 LA §/Molar average velocity of mixture is zero
c. a 3R b, THiBotha & b

d. a @b, H Tgi/Neither a nor b

Options :
1.a
2.b
3.C
4.d

Question Number : 53 Question Id : 7715133933 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e fafae wicar ... ... & TH &/Ion-exchange process is similar to ............
a.  SUI¥U/Adsorption
b.  3@WIWU/Absorption
c.  [&f/Leaching
d.  HYUExtraction
Options:
1.a
2.b
3.¢
4.d

Question Number : 53 Question Id : 7715133933 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e fafae wicar ..., .. & §HM §/lon-exchange process is similar to ...
a.  HfERIYO/Adsorption

b.  3M@IWUVAbsorption

c. &I/ Leaching

d.  FIspYU/Extraction

Options :



1.a
2.b
3.c
4.d

Question Number : 54 Question Id : 7715133934 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

A T & Y AR B & AW Y MU R A ....... gl

Diffusion rate of A under steady state, through non-diffusing B

a.  Na=[Das/(z xam)] (M/p)ar ( Xa1-Xa2) Tel/where xgy = (Xp2-Xa1)/In(xg2/Xa1)
b.  Na=[Das/(z Xam)] (p/M)ay ( Xa1-Xa2) FEl/where xgy = (Xp2-Xa1)/In(xg2/Xa1)
c.  Na=[Das /(z x8m)] (M/p)ar ( Xa1-Xa2) S8/ where Xpyr = In(xpa/%e1) /(X52-X51)
d.  Na=[zDap/ xem)] (M/p)ar ( Xa1-Xa2) &1/ where Xgy; = (Xa2-Xp1)/In(Xs2/X1)

Options :
1.a
2.b
3.c
4.d

Question Number : 54 Question Id : 7715133934 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Tl a1 & HH YR B b AHH U WU W A ..., gl

Diffusion rate of A under steady state, through non-diffusing B

a.  Na=[Das/(z xam)] (M/p)a ( Xa1-Xa2) 61/ where xgn = (Xao-Xa1)/In(xgy/Xs1)
b.  Na=[Dap/(z xen)] (p/M)ax  Xa1-Xa2) Tel/where Xan = (Xa2-Xp1)/In(Xg/Xa1)
c.  Na=[Das/(z xen)] (M/p)ar ( Xa1-Xa2) S8/ where xpy = In(xpa/%e1) /(Xg2-X51)
d.  Na=[zDap/ xem)] (M/p)ar ( Xa1-Xa2) 561/ Where Xg; = (Xa2-Xp1)/In(X52/X1)

Options :
1.a
2.b
3.c
4.d

Question Number : 55 Question Id : 7715133935 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



EeIdEd da & WY SHeiod Y0b ol Uqed &1 R & U4d, 9 &E 2 x 105 N/m?
qul 24 °C R G Y0 &1 GaoH FEEER & WU 60%, FUT 20%, WA 9%, T-wged
6% U1 TH-UeT 5% YRRyl feq (N/mx10-3 ¥ arere; $3; 42, HUH: 9, T-sgcH: 2.4 aul
-0 0.7) H U0 & T9 U@ W F URGeH DIl

After long contact with a hydrocarbon oil and establishment of equilibrium, a gas mixture has
the following composition at 2 x 10° N/m?total pressure and 24 °C.: methane 60%, ethane 20%,
propane 9%, n-butane 6% and n-pentane 5%. Calculate mole fraction of propane in the
equilibrium solution (Vapour pressure in N/mZx10-; Ethane: 42, Propane; 9, n-Butane: 2.4 and
n-Pentane: 0.7)

a. 0.8l

b. 0.18

c. 0.09

d. 002

Options :
1.a
2.b
3.c
4.d

Question Number : 55 Question Id : 7715133935 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

EeIdEd da & WY SHeiod Y0b ol Uqed &1 R & U4d, 9 &E 2 x 105 N/m?
qul 24 °C R Y Y0 &1 GaH FEEER & WU 60%, FU 20%, WA 9%, T-aged
6% Ul TI-UeH 5%| Jraedl foemd (N/m2x 103 & agem; §4: 42, TIH: 9, T8¢ 2.4 a1
E-U8:0.7) ° W & T 0E 3T & GRGeH Do

After long contact with a hydrocarbon oil and establishment of equilibrium, a gas mixture has
the following composition at 2 x 107 N/m? total pressure and 24 °C.: methane 60%, ethane 20%,
propane 9%, n-butane 6% and n-pentane 5%. Calculate mole fraction of propane in the
equilibrium solution (Vapour pressure in N/m2x10-; Ethane: 42, Propane: 9, n-Butane: 2.4 and
n-Pentane: 0.7)

a. 08l

b. 0.18

c. 009

d 002

Options :
1.a
2.b
3.c



4.d

Question Number : 56 Question Id : 7715133936 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

A3 HEq @1 GEy ... .. g/Roult’s law relates to
ot g faemAl WALl liquid solution

dae 9 el fdegHT WALl non-ideal solution only
fgra®! Solvents

Jamasiid faelal d/Non-volatile solutes

Options :
1.a
2.b
3.c
4.d

Question Number : 56 Question Id : 7715133936 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

A3ee g0 & ey ... g/Roult’s law relates to ............
il 5 faagH ALl liquid solution

dad gHl 3FGRIl fdedHl WAL non-ideal solution only
faama®! ¥/Solvents

Jamasiia faet d/Non-volatile solutes

a o o

Options:
1.a
2.b
3.c
4.d

Question Number : 57 Question Id : 7715133937 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



..... @ 3 SYT D] JYIIRU & U Ui HGaH & SR fbar S gl
Steam distillation is used for separation of high boiling

a. SfdIiid 3Usedl ¥ Uendi/Substance from non-volatile impurities

b.  ®H/Volatile impurity from still higher boiling substances

c. GHI (a) @l (b)/Both (a) & (b)

d. T (a) IR T (b)/Neither (a) & (b)

Options:
1.a
2.b
3.c
4.d

Question Number : 57 Question Id : 7715133937 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

..... @ 3 SYT D] JYIIRU & U Ui HGaH & SR fbar S gl
Steam distillation is used for separation of high boiling

a. SfdIiid 3Usedl ¥ Uendi/Substance from non-volatile impurities

b.  ®H/Volatile impurity from still higher boiling substances

c. GHI (a) @l (b)/Both (a) & (b)

d. T (a) IR T (b)/Neither (a) & (b)

Options:
1.a
2.b
3.c
4.d

Question Number : 58 Question Id : 7715133938 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Al & gaRHG! & QuEdRu & fau L. ¥R &1 W fHad gl
........... diffusion is used for separating the isotopes of Methane

a.  dUd/Thermal

b.  dld/Pressure

c.  HigU/Concentration

d. dd/Force



Options :
1.a
2.b
3.C
4.d

Question Number : 58 Question Id : 7715133938 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

i & greiiie] & gyae & faw L TR0 $1 IUANT fHamd Bl

........... diffusion is used for separating the isotopes of Methane
Mg/ Thermal

a.

b.  @ld/Pressure
¢.  FigUl/Concentration
d ddl/Force

Options :
1.a
2.b
3.c
4.d

Question Number : 59 Question Id : 7715133939 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

JHBIad SO 94T SHAH HRT ... ... & Y &fid 3l
Simultaneous heat and mass transfer is correlated with
a. f¥9¢ ®=/Schmidt Number

b. WSd Y®A/Prandtl Number

c. 39 E/Lewis Number

d. 2RdS YBAI/Sherwood Number

Options :
1.a
2.b
3.c
4.d

Question Number : 59 Question Id : 7715133939 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



Simultaneous heat and mass transfer is correlated with ..........
a. f¥H¢ F®@/Schmidt Number

b. Wigd ¥&I/Prandtl Number

c. {39 YH/Lewis Number

d. 2R4ge YBAISherwood Number

Options :
1.a
2.b
3.¢
4.d

Question Number : 60 Question Id : 7715133940 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

....... & U ggd $d Yold <yl B adl B gEa H uild [ o gl

Very tall packed towers are divided into series of beds fo ................
a. YHY <4 g ®H ®/reduce the overall pressure drop

b. WUMGH ¥ §o/avoid channeling

¢. %d YRUIGA BH H/reduce liquid hold up

d. @ ¥ gd/avoid flooding

Options :
1.a
2.b
3.c
4.d

Question Number : 60 Question Id : 7715133940 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

....... & U ggd $d Uold <yl Bl B gEa F uild [ o gl

Very tall packed towers are divided into series of beds fo ................

a. YHY <4 g ®H ®/reduce the overall pressure drop
b. WUMGH ¥ §o/avoid channeling

¢. %d YRUIGA BH H/reduce liquid hold up

d. @ ¥ gd/avoid flooding

Options :



1.a
2.b
3.c
4.d

Question Number : 61 Question Id : 7715133941 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

CO, T g .. ... BRI f&ar 1 ¥dbdl §/CO; can be absorbed by
a. d«d FUS SHEEs/Hot Cupric Oxide

b. fafmw gEsldEe/Lithium hydroxide

c. ¥id Ca(OH)y/Cold Ca (OH);

d. Ud@ArAlumina

Options :

1.a

2.b

3.C

4.d

Question Number : 61 Question Id : 7715133941 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

CO, &1 Ham . .. .. BRI f&d1 & Yol §/CO; can be absorbed by
a. dd dgUd 3Hdge/Hot Cupric Oxide

b. faf¥mH gEsiegs/Lithium hydroxide

c. ¥id Ca(OH)y/Cold Ca (OH);

d. UgBAr/Alumina

Options:

1.a

2.b

3.C

4.d

Question Number : 62 Question Id : 7715133942 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



fyqae fig, focud 9 ® o€ fig § ol WO W@ @ fig W o ¥@d 3l 3@ R W
R < g 9 5 B-onrd ok % Ry Riawe Rig @ den an @y

A plait point is the point on the solubility curve, where the tie line reduces to a point. What is
the number of plait point for a ternary system containing two pairs of partially miscible liquids?
a. 0

b.
C.
d.

LTI S ] —_

Options :
1.a
2.b
3.c
4.d

Question Number : 62 Question Id : 7715133942 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fqge fdg, foua @ ® d¢ g @ ol 9O W U@ fig ® o @ 31 fE iR ®
i &t gl &1 U@ B-ameRt wonel o fou Ryade fog @t den & gl

A plait point is the point on the solubility curve, where the tie line reduces to a point. What is
the number of plait point for a ternary system containing two pairs of partially miscible liquids?
a. 0

b.
C.
d.

Lad I —_

Options :
1.a
2.b
3.c
4.d

Question Number : 63 Question Id : 7715133943 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



oid W Ik Ul & Sided & GRE 99 H COp & AR & U FoMH AR & gE
TR ... i gl

During bottling of cold drinks (e.g. PEPSI), the main resistance to mass transfer for the
absorption of CO; in water lies in the ...............

a. 19 f5e/Gas film

b. %d fh/Liquid film

9-T19 JRIYB/Liquid — gas interface
= ¥ T3 Toi/None of these.

Options :

a o

1.a
2.b
3.¢C
4.d

Question Number : 63 Question Id : 7715133943 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

oiq Ual (g Unll) & §lad & GRH 9a § COp & aEINY & fU FoH FR0 &1 T
TR ... "2l

During bottling of cold drinks (e.g. PEPSI), the main resistance to mass transfer for the
absorption of CO; in water lies in the ...............

a. 9 fe/Gas film
b. 54 he/Liquid film
¢. %a-19 WYYLiquid - gas interface
d. 3 ¥ I3 TeI/None of these.
Options :
1.a
2.b
3.c
4.d

Question Number : 64 Question Id : 7715133944 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



959 Yudd 2 TIH O vedd R foer & o ga @ Wiy dom 100 T wa €
TS| U8 HFd §U 9 [ Sfcvas Rigid o 8, WoRd & U somH R id (ke) H
..... T gig gl

The Reynold number of the liquid was increased 100 fold for a laminar falling film used for

gas — liquid contacting. Assuming penetrating theory is applicable, the fold increase in the
Mass transfer co-efficient (kc) for the system is
a. 100

b. 10
c. 5
d. 1
Options :
1.a
2.b
3.c
4.d

Question Number : 64 Question Id : 7715133944 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

959 WU 3 WIE Uo vedhy fRdl e & fw ga @ Wiy @ 100 T §e A
TS| U5 WG §U O {6 Sfdyad gl a g, ol & fU s St Oid (ke) H
..... T i &M

The Reynold number of the liquid was increased 100 fold for a laminar falling film used for
gas — liquid contacting. Assuming penetrating theory is applicable, the fold increase in the
Mass transfer co-efficient (kc) for the system is

a. 100

b. 10
c. 35

d. 1
Options :
1.a

2.b

3.C

4.d

Question Number : 65 Question Id : 7715133945 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



U6 fRMYR e WY T 20 mol% a1 Jad BT WU & T Ta I &1 3R R
Ui &l 80 mol% g # uRafdd fow I 8, d W@ b e H ..... @ IRad gl
A binary distillation column is operating with a mixed feed containing 20 mol% vapour. If
the feed quality is changed to 80 mol% vapour, the change in the slope of the q-line is :

a. L.75

b 275

A O ]

d 575

Options :
1.a
2.b
3.c
4.d

Question Number : 65 Question Id : 7715133945 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W0 f33uRl SYaH &Y Ud 20 mol% a9 Jad Ml RO & Ty 9d [ 81 HR R0
U &l 80 mol% a9 ¥ uRafdd fow i g, d W@ b e ..., @ IRadq gl
A binary distillation column is operating with a mixed feed containing 20 mol% vapour. If
the feed quality is changed to 80 mol% vapour, the change in the slope of the g-line is :

a. L75

bi TS

& 5B

d 575

Options :
1.a
2.b
3.C
4.d

Question Number : 66 Question Id : 7715133946 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



QE_HIQE ...... ©/EDONIte 1S vuuversense

a. 3@ Y9d UlleueH/High density Polyethylene
b. @M ¥@S/Neoprene rubber
c. UHH fasa Udide Ugagad/Ethylene Vinyl Acetate copolymer
d. 3dd dedi-d Wg/Highly vulcanized rubber
Options :
1.a
2.b
3.C
4.d

Question Number : 66 Question Id : 7715133946 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

QE_FIIQE ...... %.fEbnnite jT- S

a. 3@ Y9d Ulfufe-/High density Polyethylene
b. @A @S/Neoprene rubber
c. UMM f9Asd UHiee Wedgad/Ethylene Vinyl Acetate copolymer
d. 3dd dedid Ws/Highly vulcanized rubber
Options :
1.a
2.b
3.C
4.d

Question Number : 67 Question Id : 7715133947 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

3@l ¥ fgdig® YR . ... B/Secondary nutrients in fertilizers are
a. gerdd, didl, BYGRY/Nitrogen, Copper, Phosphorous

b. &fek@d, ¥We, UIEREH/Calcium, Zinc, Potassium
C
d

iy, DHREE, Fe®y/Caleium, Magnesium, Sulphur
diel, Yewr, Alfesed/Iron, Sulphur, Molybdenum

Options :
1.a
2.b
3.C



4.d

Question Number : 67 Question Id : 7715133947 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

a1 fgdigd QPR . ... B/Secondary nutrients in fertilizers are
a. Igciod, didl, BIYhE/Nitrogen, Copper, Phosphorous

b. ®fcd™d, I, UlCRAMH/Calcium, Zinc, Potassium
C
d

iRy, WARME, We®/Caleium, Magnesium, Sulphur
digl, Wewx, HiidseTH/Iron, Sulphur, Molybdenum

Options:
1.a
2.b
3.c
4.d

Question Number : 68 Question Id : 7715133948 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

AE3-d1®, CAN (Udh JR@) @ ........ 7 § Yfhd &g & gl
Nitro-chalk, CAN (a fertilizer) is dried in a dryer

a. EL{Ufﬂ"Rutaw

b. fafa/vacuum

c.  gUI/Tunnel

d.  Yd/Tray

Options:
1.a
2.b
3.¢
4.d

Question Number : 68 Question Id : 7715133948 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



A5cl-did, CAN (U IRE) @ ........ T § gfhd g & gl
Nitro-chalk, CAN (a fertilizer) is dried in a dryer

a. ‘{Ufﬂ"Rutary

b. fafa/vacuum

c.  gUI/Tunnel

d.  Yd/Tray

Options :
1.a
2.b
3.C
4.d

Question Number : 69 Question Id : 7715133949 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

g Rugex § dquaH R &F ....... w9 0 g

Temperature and pressure in the urea reactor are of the order of
a. 50 — 170%C, 1000 bar

b 140 — 180°C, 300 bar

C. 140 — 180°C, 2 bar

d. 180-210°C, 150 bar

Options :
1.a
2.b
3.c
4.d

Question Number : 69 Question Id : 7715133949 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

i Rugex § dueH SR aF ... w9 ° g

Temperature and pressure in the urea reactor are of the order of
a. 50 — 1709C, 1000 bar

b 140 — 1809C, 300 bar

C. 140 — 180°C, 2 bar

d 180 —2109C, 150 bar

Options :
1.a



2.b
3.¢C
4.d

Question Number : 70 Question Id : 7715133950 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T o & oy Fefifad afml 31 8w RET o, JRWEY & w0 § aftfa
foour o &2

Which of the following grades of Nitric acid is described as ‘red fuming nitric acid, RFNA’

. 45% 3 ¥ YiUEId 3%/ Acid over 45% concentration

b.  68%¥ T TEUEG 3/ Acid over 68% concentration

c. 86% ¥ T TEUE 3/ Acid over 86% concentration

d.  96%4Y 3T WEUEM 3Fd/Acid over 96 % concentration

Options:
1.a
2.b
3.c
4.d

Question Number : 70 Question Id : 7715133950 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TEeE o9 & by Fufiied 40El 3 % w1 TR oW, IRWGHT & & ¥ dif
o1 W &7

Which of the following grades of Nitric acid is described as ‘red fuming nitric acid, RENA’
45% Y fiF WEUA e/ Acid over 45% concentration

68% ¥ 3MfiT WigUE 3l/Acid over 68% concentration

86% ¥ P TEUEN 3%/ Acid over 86% concentration

06 % ¥ ¥ Wigudrd 3%I/Acid over 96 % concentration

o n oo

Options :
1.a
2.b
3.c
4.d

Question Number : 71 Question Id : 7715133951 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



Slag-afifgrn .. ... ... # uRafdd @A & fou wgaa o o 2
The oxo-reaction is used for converting

a. Ucdlelad & UfeSggs/Alcohol to aldehyde
IR & Hifeiit-/Paraffin to olefin

b.
c. i Bl UfSelge/Olefins to aldehydes
d. UfcSggs @i Uedigic/Aldehydes to alcohols

Options :
1.a
2.b
3.C
4.d

Question Number : 71 Question Id : 7715133951 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Jiagi-ffebar ........ T gRafdd &1 & U wWad fear o g
The oxo-reaction is used for converting

a. Uedlgld @ UfeSggs/Alcohol to aldehyde
Rifte &1 aifafsa/Paraffin to olefin

b.
c. i ®I UfEeEe/Olefins to aldehydes
d. UfSeRe @I Ucdbigida/Aldehydes to alcohols

Options :
1.a
2.b
3.c
4.d

Question Number : 72 Question Id : 7715133952 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TR &l fe g ..., o foiu SiieT & g/Plasticizers are added to paints to e
a.  SRIY &/ Make it corrosion resistant
b. dHFER Wd &M/ Make glossy surface

T WeH & qU e H @R @ Adh-/Give elasticity and prevent cracking of film
arHSElg e’ 9o Increase atmospheric oxidation

[T o |

Options :
1.a



2.b
3.¢C
4.d

Question Number : 72 Question Id : 7715133952 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TR B T g ..., o foiu SIS & g/Plasticizers are added to paints to s
STRIS §9H/Make it corrosion resistant

a.
b. THHER Wd &H/Make glossy surface
c. O YoM & aUl fbed § &R @I Ud/Give elasticity and prevent cracking of film
d.  drgHeSdly e TeH/Increase atmospheric oxidation

Options :

1.a

2.b

3.C

4.d

Question Number : 73 Question Id : 7715133953 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

YR SgadIiaRyl H 3@ §gad ¥ ... o/Polymer formed in cationic polymerization has
a. Yo figs ¥R fRu/Narrow molecular weight distribution

b. LA MfUad YR faRMedium molecular weight distribution

c. W@ ¥Mflgd YR fdRWBroad molecular weight distribution

d. WG AT Y3/ Generally isotactic structure

Options :
1.a
2.b
3.c
4.d

Question Number : 73 Question Id : 7715133953 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



Y SgadioRu § 3@ 9gad § ... o/Polymer formed in cationic polymerization has
a. Gl fidd YR fIdRU/Narrow molecular weight distribution

b. AL 3flgd HR fdRU/Medium molecular weight distribution

c. W Mfigd HR fdd0Broad molecular weight distribution

d. UM TR YLEHI/Generally isotactic structure

Options:
1.a
2.b
3.c
4.d

Question Number : 74 Question Id : 7715133954 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Sga® gar, 9 59 mar ¥

The polymer ‘Nylon’ belongs to which family below?
a. WHAR® UlUAES/Aromatic polyamides

b. URibicd uifuArgs/Aliphatic polyamides

c. WU/ Polyesters

d. 399 ¥ T/Al of these

Options :
1.a
2.b
3.c
4.d

Question Number : 74 Question Id : 7715133954 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Sga® g, T° 59 mEr ¥

The polymer ‘Nylon’ belongs to which family below?
a. WHARE UlUAEs/Aromatic polyamides

b. Uftibfecd uifauargs/Aliphatic polyamides

c.  TifE&R/Polyesters

d. 399 ¥ T/AL of these

Options :



1.a
2.b
3.c
4.d

Question Number : 75 Question Id : 7715133955 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

WRIid Wdlg &I UdY .... ¥ 8/Tranquil flow is related to
a. Ulcgd T&A/Reynolds number
b. URME Y¥E/Grashof number
c. W3S Y¥&I/Froude number
d. Sl Y@/ Archimedes number
Options :
1.a
2.b
3.c
4.d

Question Number : 75 Question Id : 7715133955 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TR Wdlg &l YaY . ... ¥ B/Tranquil flow is related to
a. YHiced T@AI/Reynolds number
b. UM Y@/Grashof number
c. WI3s H¥l/Froude number
d.  3fdbHISl W& Archimedes number
Options:
1.a
2.b
3.c
4.d

Question Number : 76 Question Id : 7715133956 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



o Ul ¥ W B ... BRI dgcidd fbal Wil gl
By the Can process, Styrene is polymerized by........

a. YA §ga®-/Bulk polymerization

b. A€ dgd®/Suspension polymerization

c. UMEY dgdd-d/Emulsion polymerization

d f{d@9 dgdd-/Solution polymerization

Options :
1.a
2.b
3.c
4.d

Question Number : 76 Question Id : 7715133956 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

o Ul ¥ W B ... BRI dgclidd fdar ol gl
By the Can process, Styrene is polymerized by........

a. YA §ga@-/Bulk polymerization

b. fIcded dgd®-/Suspension polymerization

c. UHYH dgdd-/Emulsion polymerization

d fddg9 dgdd-/Solution polymerization

Options :
1.a
2.b
3.c
4.d

Question Number : 77 Question Id : 7715133957 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

B4 Bwid B FAR JewR ... & WY RY i B

Higher yield of Carbon black is achieved starting with .......

a. Uficd gEgide- dwl Hc/Aliphatic hydrocarbon raw materials

b. WHRS BESIHRA Hal Hie/Aromatic hydrocarbon raw materials

¢c. ®dl AW & ¥ F Bled SRUche/Carbon disulphide as raw materials

d. @ 90 & ¥ H TR-KQ eRgwe-/Chloro — Fluoro hydrocarbon as raw materials

Options :
1.a



2.b
3.¢C
4.d

Question Number : 77 Question Id : 7715133957 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Higher yield of Carbon black is achieved starting with .......

a. Uibicd gRoide- dal He/Aliphatic hydrocarbon raw materials

b. WHRE FEgida Bl Hl/Aromatic hydrocarbon raw materials

c. ®dl AW & ¥ F Ble9 SRUche/Carbon disulphide as raw materials

d. @l Aid & ®U H T@R-FR g5aidlen/Chloro — Fluoro hydrocarbon as raw materials

Options :
1.a
2.b
3.c
4.d

Question Number : 78 Question Id : 7715133958 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

i, I aUl SigeH & Jdied & fay AeRmEe I | 6w Feidied gt @
ST b ST 87
Which of the following processes is employed in petrochemical industry to produce Benzene,
toluene and xylene
a. G 4o/ Thermal cracking
b. JAR@I YR/ Catalytic reforming
c. WU [:IPR/Steam reforming
d.  JORI ¥oH/Catalytic cracking
Options :
1.a
2.b
3.c
4.d

Question Number : 78 Question Id : 7715133958 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



g, T aYl WsaH @ Sdled & o SRS e § foy Fefiied wibaet @
S ol o 82

Which of the following processes is employed in petrochemical industry to produce Benzene,
toluene and xylene

a. MM Ho/Thermal cracking

b. JARPI R /Catalytic reforming
c. YUY [:Y%R/Steam reforming

d.  JERI Yo/ Catalytic cracking

Options :
1.a
2.b
3.c
4.d

Question Number : 79 Question Id : 7715133959 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

it =iol & WY Jea Ak 9 & e URTaRT @ &R0 4 [E W@ S Bl
. BEl oIl ¢

Underwater pipelines made up of Iron are protected from corrosion by connecting with
Magnesium blocks. It is known as....

a. AUIRERED &0/ Magnesiothermic protection

b. TG TUIH &/ Galvanization protection

c. I ﬂ:ﬁﬁ"ﬁ E{Ul/Sacrificial anodic protection

d. I $UIfed W&0Sacrificial cathodic protection

Options :
1.a
2.b
3.c
4.d

Question Number : 79 Question Id : 7715133959 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



TiRET o & T Fem @ ¥ & e TRTAE @ &R ¥ W @ 9 2l
= ®gl 9l g

Underwater pipelines made up of Iron are protected from corrosion by connecting with
Magnesium blocks. It is known as....

a. DR 8/Magnesiothermic protection

b.  WE UIdRU IT/Galvanization protection

c. I UAIiS® WUSacrificial anodic protection

d. I GUIfgd &0Sacrificial cathodic protection

Options :
1.a
2.b
3.c
4.d

Question Number : 80 Question Id : 7715133960 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TP YNURTEd e o G9=d H el T @1 ool &< HR-Ied 0 Bl IRE® iR ®
®3 Tg-4RI ¥ YIRG 91 T §1 0P JohHug HATd R Wi @ HY 9o/ oMl diee?
TH o {6 &5 odd TY-HR a1 SehAviy HWIRU B R ST ol

Consider an ideal gas in a frictionless piston cylinder assembly. The weightless piston is initially
loaded with a large number of small weights. How to carry out a reversible isothermal expansion
process? Assume that a large number of very small weights and an arrangement for reversible
heat transfer are available.

2. (e d YR @1 §is T ge {5 vl  SSaR &t

Without adding or removing weights on the piston, transfer heat to the system

b, e ¥ 4R @l 9% a1 e {1 TuTel € SRy #i

Without adding or removing weights on the piston, transfer heat from the system

¢, feed o 4R @l died gu ol o SR $i

Adding weights on the piston, transfer heat to the system.

d. T ¥ WR Bl god §U WO H SR $Y

Removing weights from the piston, transfer heat to the system.

Options :
1.a
2.b
3.c



4.d

Question Number : 80 Question Id : 7715133960 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TP YNURTEd fRed o §@d H el 1 @1 oot &1 HR-Ied 0% &l JRN® IR ®
&5 q-4R ¥ vIRkd fou T g1 @ SephHui 9l TOR Gied @ HU 9am 9F dige
IF o & @3 ofcdd TY-HR qu Iebauig SWIU P e U gl

Consider an ideal gas in a frictionless piston cylinder assembly. The weightless piston is initially
loaded with a large number of small weights. How to carry out a reversible isothermal expansion
process? Assume that a large number of very small weights and an arrangement for reversible
heat transfer are available.

a. 0% H YR @I g 71 gerU & Jomeh § SR B
Without adding or removing weights on the piston, transfer heat to the system

b, fied § YR @I &S a1 g {1 worell ¥ SRy P

Without adding or removing weights on the piston, transfer heat from the system

c. e 4R @I digd gu ol § SR &

Adding weights on the piston, transfer heat to the system.

d. TU%T ¥ 4R @I gord §U WU H SR $

Removing weights from the piston, transfer heat to the system.

Options :
1.a
2.b
3.c
4.d

Aptitude Test



PartI

Question Number : 81 Question Id : 7715133961 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

g o fpg 7 § gefia 82

To which group does the figure belong?

AN

Group A

Group B |

(a)
(b)
(c) A@lA, B /Neither Anor B
(d) I WAl of the above

Options :

4 m x>

1.a
2.b
3.¢C



4.d

Question Number : 81 Question Id : 7715133961 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

g o fra o @ 9efia g2

To which group does the figure belong?

AN

Group A

Group B |

4 m x>

(a)

(b)

(c) A@lA, B /Neither Anor B
(d) I WAl of the above

Options :

1.a

2.b

3.C

4.d

Question Number : 82 Question Id : 7715133962 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



DH-T1 foF g 4ol & g s 82

Which figure completes the series?

Options :
1.a
2.b
3.c
4.d

Question Number : 82 Question Id : 7715133962 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



DH-T1 foF g 4ol & g s 82

Which figure completes the series?

Options :
1.a
2.b
3.c
4.d

Question Number : 83 Question Id : 7715133963 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



T B UB W U TGS 3 gHw 4 S uigel & U H 3y wafdd

mzﬁ%www%ﬁmmaﬁqﬁq@ﬂaﬁaﬂmmﬁﬁsﬂﬁ
GIHE'{?I iU ST S § AR I% AN Wi gl A W @ o Fefied § oF
S0 & oyl @ gurld R 9 iR 9 S

A conservation group in the United States is trying to change the long-standing image of bats as
frightening creatures. The group contends that hats are feared and persecuted solely because
they are shy animals that are active only at night. Which of the following, if true, would cast the
most serious doubt on the accuracy of the group's contention?

(a) TGRS T T TEd U5 o WPis Mo ®F 6 8 T8 g W @ 8 A
05 IR 4 F & fon e el & o o &1 % 2

Bats are steadily losing natural roosting places such as caves and hollow trees and are thus
turning to more developed areas for roosting.

(b) TGS AR Blgl & THIITHGD § 041 TUS BRU 0 AEC &7 AW &
fou &R oft® que &H 4 @ & W@ &

Bats are the chief consumers of nocturnal insects and thus can help make their hunting
territory more pleasant for humans.

(0 TGS @1 YIH I H § A o T, AP O g e 1§ S
vigel ® ®U F qM1 9 B
Bats are regarded as frightening creatures not only in the United States but also in Europe,
Africa, and South America.

(d) YU U4 I et & U ¥ @ @ 9 g 8, R of ST S T o ok
R U
Raccoons and owls are shy and active only at night; yet they are not generally feared and
persecuted.

Options :
1.a
2.b
3.C
4.d

Question Number : 83 Question Id : 7715133963 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



T B UB W U TGS 3 gHw 4 S uigel & U H 3y wafdd

mzﬁ%www%ﬁmmaﬁqﬁq@ﬂaﬁaﬂmmﬁﬁsﬂﬁ
GIHE'{?I iU ST S § AR I% AN Wi gl A W @ o Fefied § oF
S0 & oyl @ gurld R 9 iR 9 S

A conservation group in the United States is trying to change the long-standing image of bats as
frightening creatures. The group contends that hats are feared and persecuted solely because
they are shy animals that are active only at night. Which of the following, if true, would cast the
most serious doubt on the accuracy of the group's contention?

(a) TGRS T T TEd U5 o WPis Mo ®F 6 8 T8 g W @ 8 A
05 IR 4 F & fon e el & o o &1 % 2

Bats are steadily losing natural roosting places such as caves and hollow trees and are thus
turning to more developed areas for roosting.

(b) TGS AR Blgl & THIITHGD § 041 TUS BRU 0 AEC &7 AW &
fou &R oft® que &H 4 @ & W@ &

Bats are the chief consumers of nocturnal insects and thus can help make their hunting
territory more pleasant for humans.

(0 TGS @1 YIH I H § A o T, AP O g e 1§ S
vigel ® ®U F qM1 9 B
Bats are regarded as frightening creatures not only in the United States but also in Europe,
Africa, and South America.

(d) YU U4 I et & U ¥ @ @ 9 g 8, R of ST S T o ok
R U
Raccoons and owls are shy and active only at night; yet they are not generally feared and
persecuted.

Options :
1.a
2.b
3.C
4.d

Question Number : 84 Question Id : 7715133964 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

DISTINCTION ¥sG @1 3fad 3 TUH d1d Teg &1 90H B

Choose the word which best expresses the meaning of the word: DISTINCTION

(a) Diffusion
(b) Disagreement
(c) Different
(d) Degree



Options :
1.a
2.b
3.C
4.d

Question Number : 84 Question Id : 7715133964 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

DISTINCTION %5, @1 3fad 3t T dret Teg, B T8 B
Choose the word which best expresses the meaning of the word: DISTINCTION

(a) Diffusion
(b) Disagreement
(c) Different
(d) Degree

Options :
1.a
2.b
3.c
4.d

Question Number : 85 Question Id : 7715133965 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



S T e &l W adRa 82
Which figure completes the grid?

Options:
1.a
2.b
3.c
4.d

Question Number : 85 Question Id : 7715133965 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



S T e &l W adRa 82
Which figure completes the grid?

|

¢ QD

Options:
1.a
2.b
3.c
4.d

Question Number : 86 Question Id : 7715133966 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

frafafea fopeal # ¥ 5 Tsg AWARE @1 TRITY TOH a0 TG @1 997 &

Choose one of the following options that means the opposite of the word; AWARE

{a) Uncertain
(b) lgnorant
(c) Sure

(d) Doubtful

Options :



1.a
2.b
3.c
4.d

Question Number : 86 Question Id : 7715133966 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

fofafed fdod § ¥ U UG AWARE &1 TRiaY c@iH a1 UG @1 90 &Y

Choose one of the following options that means the opposite of the word; AWARE

(a) Uncertain
(b) lgnorant
(c) Sure

(d) Doubtful

Options :
1.a
2.b
3.c
4.d

Question Number : 87 Question Id : 7715133967 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

Secretly is to openly as silently is to

(a) Scarcely

(b)  Impolitely
(c) Noisily
(d) Quietly
Options :
1.a

2.b

3.C

4.d

Question Number : 87 Question Id : 7715133967 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



Secretly is to openly as silently is to

(a) Scarcely

(b) Impolitely
(c) Noisily
(d) Quietly
Options :

1.a

2.b

3.¢C

4.d

Question Number : 88 Question Id : 7715133968 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

-4l T vy g 2 @ widwiftd die

Which one will replace the question mark?

Options :
1.a
2.b
3.c
4.d

Question Number : 88 Question Id : 7715133968 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



P-4l T vy fug 2 @ wioRiftd sl

Which one will replace the question mark?

AN
X (X5 &K

Options :
1.a
2.b
3.c
4.d

Question Number : 89 Question Id : 7715133969 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



S, iy 0 T O R G ATl & IR T AT R 3 (U 2T i Sua
B ¢ TG el Bl i o fory o afersr & o warg cim?

Firefighters use a halligan to forcibly enter locked doors during fire rescue operations.
Which halligan would require the least effort to forcibly open the door?

Options :
1.a
2.b
3.¢c
4.d

Question Number : 89 Question Id : 7715133969 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



S, iy 0 T O R G ATl & IR T AT R 3 (U 2T i Sua
B ¢ TG el Bl i o fory o afersr & o warg cim?

Firefighters use a halligan to forcibly enter locked doors during fire rescue operations.
Which halligan would require the least effort to forcibly open the door?

Options :
1.a
2.b
3.¢c
4.d

Question Number : 90 Question Id : 7715133970 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



whd I Hqferd fovar 1 81 7Y Fog U I sl 1 4R foha 1 82

The scale is balanced. What weight is the weight with the question mark?

Options :
1.a
2.b
3.C
4.d

Question Number : 90 Question Id : 7715133970 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

Wbl &I Uqferd fanar T 8 | 0 g U U sl bl MR el 22

The scale is balanced. What weight is the weight with the question mark?

Options :
1.a



2.b
3.¢C
4.d

Part II

Question Number : 91 Question Id : 7715133971 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T dF 9F GO Pl GeAd §U 0D B G UM B S Ol 8, I & fo
25625601 678678 el UHl @fs off T gnen ... .. .. R [ RE faurg g

A six-digit number is formed by repeating a three- digit number; for example, 256256 or 678678
etc. Any number of this is always exactly divisible by:

(a) 13 Hd/only
(b) 7 HH/only
(c) 1001

(d) 11 HA/only

Options :
1.a
2.b
3.C
4.d

Question Number : 91 Question Id : 7715133971 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T O oF O Pl Gledd §U WD B od UM B G Wl §, I & f
256256 01 678678 G| Udt @i off dem gHRm ... .. &N O g favrs g

A six-digit number is formed by repeating a three- digit number; for example, 256256 or 678678
etc. Any number of this is always exactly divisible by:

(a) 13 H/only
(b) 7 HH/only
(c) 1001

(d) 118/ only

Options :
1.a
2.b
3.c
4.d

Question Number : 92 Question Id : 7715133972 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

hY-/Statements:

BT ETEE? Hﬁ %}Some doctors are fools.
@ HE T g/Some fools are rich.

ﬁlﬁﬁffﬂonclusions:

(i) L] HLIEE? @ %?Some doctors are rich.
(ii) gﬁﬂﬂﬂ 2IdeX B/Some rich are doctors

(a) HIA {i]li':l%pf %fDnI\_.r conclusion (i) follows

(b) HH {ii)HEpf %{Dnly conclusion (ii) follows

(c) AT ()3T (i) Wal §/Either (i) or (ii) follows

(d) T & (i)T (ii) &l &/Neither (i) nor (ii) follows
Options :

1.a

2.b

3.¢C
4.d

Question Number : 92 Question Id : 7715133972 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



dY-/Statements:

DS EUF:E? T §/Some doctors are fools.
P8 HE Y g/Some fools are rich.

ﬁlﬁﬁfﬁonclusions:

(i) L] ETTE? Tgﬂ %!fﬁome doctors are rich.
(ii) gﬁﬂﬂ? SIdeX B/Some rich are doctors

(a) HHA {i]l'\EITEapf %;'Dnh_.r conclusion (i) follows

(b) HHE {ii)ﬂﬁpf %fDnh_.r conclusion (ii) follows

(c) @1 ()T (i) Wl B/Either (i) or (i) follows

(d) = & (i) (i) T 8/Neither (i) nor (ii) follows
Options :

1.a

2.b

3.C
4.d

Question Number : 93 Question Id : 7715133973 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFofafad fadedt # ¥ fGU WG GERMANE &1 31 G a1 Weg &1 T B

Choose one of the following options which best expresses the meaning of the word; GERMANE

(a) ‘-mfﬁesponsible
(b) TIE®/Logical

(c) TuTidd/Possible
(d) 3fdd/Relevant
Options :

1.a

2.b

3.c

4.d

Question Number : 93 Question Id : 7715133973 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Fofofad feal § ¥ 5T osg GERMANE &1 3 50 9 I &1 959 &

Choose one of the following options which best expresses the meaning of the word; GERMANE

(a) a-mﬁﬁ'?[}"ﬁes;:ronsible

(b) b Logical
(c) TuTfdd/Possible
(d) 3fed/Relevant

Options :
1.a
2.b
3.C
4.d

Question Number : 94 Question Id
Correct Marks : 2 Wrong Marks : 0

: 7715133974 Question Type : MCQ Option Shuffling : No

U 3fd faded &1 304 & ot fot Afce & Qe

Select a suitable option that would complete the figure matrix

0

-

{1’
<&
o

W

<>
_+_

L
e

O

O

S

(a) ><

Options :
1.a
2.b
3.c
4.d

(b)

(d)

Question Number : 94 Question Id : 7715133974 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
U 3fad ey &1 907 &L o o A &l e

Select a suitable option that would complete the figure matrix

2|0l
7 [

ON
() >< (b) \

<> >{I
b4

L J
e

Options :
1.a
2.b
3.C
4.d

Question Number : 95 Question Id : 7715133975 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TG LT i+, MPU- 8 NI RUxE, PofaU -8 O 14N10L42P2MS
= ...3m

If L stands for +, M stands for —, N stands for x, P stands for +, then 14 N10L42P2M §=?

(a) 153
(b) 216
(c) 248
(d) 251

Options:
1.a
2.b
3.¢



4.d

Question Number : 95 Question Id : 7715133975 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TG LW+, MPIU- 8 NP UG, P AT -8 O 14N10L42P2MS
= ...3m

If L stands for +, M stands for —, N stands for x, P stands for +, then 14 N 10 L 42P2 M 8§ =?

(a) 153
(b) 216
(c) 248
(d) 251

Options :
1.a
2.b
3.c
4.d
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